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3XML� GDQ� 6\XNXU� NHSDGD�7XKDQ�<DQJ�0DKD�(VD� NDUHQD� DWDV� UDKPDW GDQ� NDVLK�1\D�

SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU�GHQJDQ�MXGXO�³3HUDQFDQJDQ�7UROL�%XNX�GL�

3HUSXVWDNDDQ� 8QLYHUVLWDV� 7HONRP� GHQJDQ� 0HWRGH� 8VHU� &HQWHUHG� 'HVLJQ �8&'�´�

VHEDJDL�VDODK�VDWX�V\DUDW�GDODP�PHQ\HOHVDLNDQ�SURJUDP�6��)DNXOWDV�5HND\DVD�,QGXVWUL�

8QLYHUVLWDV� 7HONRP� 'DODP� NHVHPSDWDQ� LQL�� SHQXOLV� PHQ\DPSDLNDQ� XFDSDQ� WHULPD�

NDVLK�VHFDUD�SULEDGL�NHSDGD�\DQJ�WHUKRUPDW��

�� ,EX� 0LUD� 5DKD\X�� 6�7��� 0�7�� VHODNX� GRVHQ� SHPELPELQJ� ,� \DQJ� WHODK� EDQ\DN�

PHPEHULNDQ�DUDKDQ��LOPX��PDVXNDQ��NRUHNVL��LGH�LGH�\DQJ�PHPEDQJXQ��GDQ�ODLQ�

ODLQ VDPSDL�PDVD�SHQ\HOHVDLDQ�WXJDV�DNKLU�LQL�

�� ,EX�(UQD�)HEUL\DQWL�6�6L��0�6L�� VHODNX�GRVHQ�SHPELPELQJ� ,,� \DQJ� WHODK�EDQ\DN�

PHPEHULNDQ�DUDKDQ��LOPX��PDVXNDQ��NRUHNVL��LGH�LGH�\DQJ�PHPEDQJXQ��GDQ�ODLQ�

ODLQ�VDPSDL�PDVD�SHQ\HOHVDLDQ�WXJDV�DNKLU�LQL�

�� 6HOXUXK�NDU\DZDQ�7HONRP�2SHQ�/LEUDU\�GDQ�VHXUXK�UHVSRQGHQ�\DQJ�WHODK�VDEDU�

GDODP�PHPEDQWX�GDQ�EHUNRQWULEXVL�EHVDU�GDODP�SHQHOLWLDQ�LQL�

3HQXOLV� PHQ\DGDUL EDKZD� 7XJDV� $NKLU� LQL� PXQJNLQ� PDVLK� WHUGDSDW� EDQ\DN�

NHNXUDQJDQ�DWDX�NHVDODKDQ��2OHK�NDUHQD�LWX��NULWLN GDQ�VDUDQ�SHQXOLV� WHULPD�GHQJDQ�

LNKODV�XQWXN�PHQDPEDK�PDQIDDW�GDQ�SHQ\HPSXUQDDQ�KDVLO�7XJDV�$NKLU�\DQJ�SHQXOLV�

EXDW�
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